

$$\begin{aligned}
 28) \quad \frac{1}{a} &= \int_0^\infty e^{-a\lambda} d\lambda \\
 (-\Delta + E)^{-1} &= \int_0^\infty e^{\Delta t} e^{-Et} dt = \int_0^\infty e^{-Et} (4\pi t)^{-\frac{d}{2}} \exp\left(-\frac{|x-y|^2}{4t}\right) dt = \left[\begin{array}{l} \lambda = |x-y|^2 t \\ dt = |x-y|^2 ds \end{array} \right] \\
 &= (4\pi)^{-\frac{d}{2}} |x-y|^{2-d} \int_0^\infty e^{-E|x-y|^2 t} t^{-\frac{d}{2}} \exp\left(-\frac{1}{4t}\right) ds = \left[\begin{array}{l} s = \frac{1}{4t} \\ ds = -2t^{-3} dt \end{array} \right] \\
 &= 2(4\pi)^{-\frac{d}{2}} |x-y|^{2-d} \int_0^\infty \exp\left(-\frac{m^2}{4} - \frac{E|x-y|^2}{m^2}\right) m^{d-3} dm \\
 &= 2(4\pi)^{-\frac{d}{2}} |x-y|^{2-d} \int_0^\infty \exp\left(-m^2\left(\frac{1}{4} + k\right) - \sqrt{2}\sqrt{E}|x-y|\left(\frac{\sqrt{2}m^2}{\sqrt{E}|x-y|} + \frac{\sqrt{E}|x-y|}{\sqrt{2}m^2}\right)\right) m^{d-3} dm \\
 &\leq 2(4\pi)^{-\frac{d}{2}} |x-y|^{2-d} \int_0^\infty \exp\left(-m^2\left(\frac{1}{4} + k\right)\right) \exp\left(-2\sqrt{2}\sqrt{E}|x-y|\right) m^{d-3} dm \geq 2 \\
 &\leq 2(4\pi)^{-\frac{d}{2}} |x-y|^{2-d} \exp\left(-2\sqrt{2}\sqrt{E}|x-y|\right) \int_{d-3} \left(\frac{1}{4} + k\right)
 \end{aligned}$$

$\int_{d-3} \left(\frac{1}{4} + k\right) < \infty$ for $\frac{1}{4} > k$
 $\int_0(a) = \frac{1}{2} \sqrt{\frac{\pi}{a}}$
 $\int_1(a) = \frac{1}{2a}$
 $-\int_n(a) = \frac{\partial}{\partial a} \int_{n-2}(a)$

$$29) \quad (-\Delta + E)^{-1} = 2(4\pi)^{-\frac{d}{2}} |x-y|^{2-d} \int_0^\infty \exp\left(-\frac{m^2}{4} - \frac{E|x-y|^2}{m^2}\right) m^{d-3} dm$$

$$\Rightarrow (-\Delta + E)^{-1} \geq 0$$

$$(-\Delta + E)^{-1} \leq |x-y|^{2-d} \exp\left(-2\sqrt{2}\sqrt{E}|x-y|\right) \underbrace{2(4\pi)^{-\frac{d}{2}} \int_{d-3} \left(\frac{1}{4} + k\right)}_{C_d}; \quad 0 < k < \frac{1}{4} \quad d \geq 3$$

$$30) \quad \|V(-\Delta + E)^{-1} \varphi(x)\| = |V(x)| \left| \int_{\mathbb{R}^3} (-\Delta + E)^{-1}(x,y) \varphi(y) dy \right| \leq |V(x)| \int_{\mathbb{R}^3} (-\Delta + E)^{-1}(x,y) |\varphi(y)| dy$$

$$\leq |V(x)| \left\{ \int_{\mathbb{R}^3} [(-\Delta + E)^{-1}(x,y)]^2 dy \right\}^{\frac{1}{2}} \|\varphi(y)\|_2 \quad \text{from: } \|u^* v\|_2 = \|u\|_p \|v\|_q$$

$$\begin{aligned}
 \int_{\mathbb{R}^3} (-\Delta + E)^{-1}(x,y) dy &\leq \int_{\mathbb{R}^3} |x-y|^{-2} \exp\left(-\frac{1-\varepsilon}{2}\sqrt{E}|x-y|\right) dy = \int_{\mathbb{R}^3} C^2 4\pi \exp\left(-2(1-\varepsilon)\sqrt{E}|x-y|\right) dx \\
 &\leq C^2 \frac{4\pi}{3\sqrt{E} 2(1-\varepsilon)}
 \end{aligned}$$

$$\|V(-\Delta + E)^{-1} \varphi\|_2 \leq \|V\|_2 C^2 \frac{\pi}{3\sqrt{E} 2(1-\varepsilon)} \|\varphi\|_2 \xrightarrow{E \rightarrow \infty} 0$$

$$\|V(-\Delta + E)^{-1} \varphi\|_2 \leq \|V\|_2 \|(-\Delta + E)^{-1} \varphi\|_\infty \leq \|V\|_2 \|(-\Delta + E)^{-1}\|_2 \|\varphi\|_2$$